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1. I(X—l)de=);—X2+X+C,X€R
1
I(X_l)z (*), x=y+Ldx=dy
P 1 1
3. (*):Iy dy=——"+C=-—"+C, xeR\{l}
y X—1
4. I L 2XHS |n‘X2+5X+6‘+C,XER\{—3,—2}
x +5x+6
5. I d _IXZHdX—ZI dx =x—2arctg(x)+C, xeR
x®+1 x*+1 x*+1
6. jtg(x)dx:js'”(x) dx =—Incos(x)|+ C, xe R\{(2k +Dz/2,k e Z}
2
7. I dx+J.—dx I(x 1)dx+|n\x+1\+C_——x+ln\x+1\+C,
1+x 2
XeR\{—l}
8. I o I\XJF XL X=(*), y=x-1dy=dx,t=x+1dy=dx
AX+1—4/X
1 1/2 1/2 3/2 1 3/2 1 3/2 1 3/2
)= S|t dt+ = d =—t C=—(x+D)"" +>(x=-1)"“+C,x=>1
=3 zjy y=,t+y 0D+ (x=)
9. Ix\/2—5xdx, y = 2—-5x,dy = —5dx
jx\/2—5xdx
—jzgyym;dy=—o.osjylfzdy+o.o4jy3’2dy_ @(2 5 )3’2+05'1(2—5x)5’2+c
x<2/5
eX

1 X
10. Iex +e‘XdX:J.e2X+1dX:J.2(eZX+1)dX:2lnez +1‘+C, xeR

11. Ixe’xdx =—xe * +Ie’xdx =—xe*—-e*+C, xeR
x +1 1¢ 1 NG x 1
12. | xarcti xdx_—arct X) — Zl -~ —dx="—arctg(x)— -+ —arctg(x)+C
Jarctg (9ax = -arctg (9 — [ %, e [ =" arcig (9~ >+~ arctg(x)
XeR

13. Ixz sin 2xdx , y = 2x, dy = 2dx,

] 1 ] 1 1 1 1 . 1
x?sin2xdx =~ | y*sinydy =—~-y?cosy+—|ycosydy =——y?cosy+ —ysiny+— |cosydy +C =
| o]y sinydy =—_y“cosy~+ [ycosydy =— y*cosy+ ysiny+_ [cos ydy

—;xz cost+§xsin2x+isin2x+C, xeR
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